TR 184E

5 2 ZERE | A4 BE
(s | | AA
—{%IE B
X |KEBCc)| KEB(Cc) | #RUKZE | R 48 B&
48] BEn 15.0 14.8 ES BE Sk R me
68| Bh 22.4 24.9 xE BE | &e- %6 me
8H| BEY 32.8 24.8 == BE R - me
108 =Y 26.4 23.2 == BE kEf-E me
128 5 14.0 14.3 == BE R - mR
28| BEY 15.5 19.0 x[E BE R -5 ER
4ERIBER 3
oH DO BOD SS KEEHK
(mg/) (mg/) (mg/l) | (MPN/100ml)
=%(E| 6.5~85] 75LLE | 1.0LLF | 25LLF 50LLF
EHIE(75%1E) - 10 0.5(0.6) i 6500
48] 77 10 <05 <1 -
68| 75 10 0.6 <1 13000
8A| so0 9.3 0.6 <1 -
10A| 76 94 <05 <1 5.6
128 78 10 <05 <1 -
2A] 83 11 <05 <1 -
BFEER
NI INEDS R NEvAL| mE fKER 7L ILKEE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HE#E(E] 0.01LLF | EEHE | 001LLF | 0.05LLF [ 0.01LLF | 0.0005LLF
EE]  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
48] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
6A| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8AH - - - - - - -
108]| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
128] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
2A] - - - - - - -
oonankl ..o .= | 1.2->20 [1,1->s/an[vR-1,2->5a][1,1,1-rJ70
PCB .y miEfbsR | Ol Iy NTFLY RIS
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
BE#EE] ERE [0.02LLF ] 0.002LLF [0.004LLF | 0.02LLF | 0.04LLF 1LUF
Sy - <0.002 | <0.0002 <0.0004 | <0.002 <0.004 <0.01
4 - <0002 | <0.0002 <0.0004 | <0.002 <0.004 <0.01
68 - <0.002 | <0.0002 <0.0004 | <0.002 <0.004 <0.01
8Al - - - - - - -
10H - <0.002 | <0.0002 <0.0004 | <0.002 <0.004 <0.01
12H - <0.002 | <0.0002 <0.0004 | <0.002 <0.004 <0.01
24 - - - - - - -
1,1,2-ky4 [RUYBaAFrS500x( 1,3-27A — . —sen FARA
o4y | TFLY | FLr  |oFaKky FOIL| YRDY )%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#(E]0.006 L F [ 0.03LLF | 0.01LLF [ 0.002LLF [0.006LLF| 0.003LLF | 0.02ELF
SEHfE] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
4A[ <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
6 Al <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8AH - - - - - - -
108]| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12 8] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
2R - - - - - - -




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E (] 0.01LLF [0.01LLF ]| 10LLTF 0.8LLF 1LLF
EH <0.001 <0.001 0.22 0.1 <0.1
48] <0.001 <0.001 0.25 <0.1 <0.1
6A| <0.001 <0.001 0.16 <0.1 <0.1
8A - - - - -
10A] <0.001 <0.001 0.22 0.1 <0.1
12A8] <0.001 <0.001 0.24 <0.1 <0.1
28 - - - - -
ZDHIER
Nonmn| TEX | 2@ @ | 2B | snados [TV
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EH{E - 0.27 0.007 - 0.006 - -
4K - 0.25 0.012 - - - -
68 = 0.23 0.005 - - - -
8H - = - - 0.006 - -
108 = 0.31 0.005 - - - -
128 = 0.28 0.006 - - - -
28 - - - - - - -
1By IR | U ERTE : - = s
Jx/—)L gy COD el > AE BEREEE
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) () (u S/cm)
EH{E - - 0.7 - - - 250
4K - - 0.9 - - - 86
68 = - 0.9 - - - 210
8A - - 0.7 - - - 75
108 - - 0.6 - - - 190
128 - - 0.6 - - - 210
28 - - 0.7 - - - 740




RIS

BJIIXKIE| n
5 2 BEJIKE| Alil4A HE&E)I
(W#ER) | B2 AA
— g1 B
Xz | SBRCC) | KiE(°C) | HEUKER | FRiR =Xz EEd
48] Bh 15.7 14.9 == BE [R5 mR
68|l fBh 22.5 23.7 =RE BE & -2 (BR) mR
8H| BEY 335 26.5 =RE BE xe-E mR
108 =Y 25.9 25.6 == BE kEf-E me
128 5 15.8 15.8 == BE & - mR
28| BEY 15.7 18.9 x[E BE kB -5 ER
4FRIFIER _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
=Z(E| 6.5~85] 75LLE | 1.0LLF | 25LLF 501 F
EHE (75%1E) - 10 0.6(0.6) i -
48] 74 10 <0.5 4 -
6A| 73 10 <0.5 i< -
8A| 8o 9.2 0.7 4 -
10A] 8o 8.7 <0.5 A -
12A] 79 10 0.6 i< -
2A] a1 11 <0.5 A -
BEIER
NP INES P n ANEvOL| WmE HiKEE  [ZxILkiE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
] 0.01LLTF | ERE | 001LLF | 0.05LLF | 0.01LLF | 0.0005LLF JERH
EiH{E - - - - - - -
4K - - - - - - -
6A - - - - - - -
8AH - - - - - - -
10R - - - - - - -
128 - - - - - - -
28 - - - - - - -
SoA0A ewe | 1,2-0908 [1,1-0500|Y2-1,2-S50(1,1,1-k) 50
PCB 5 mig LR axs | TFLo nTFLe hTse
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
El ER/H (00280 000280 F [ 000480 F [ 0028 F | 0.04LLF 1LLF
E - - - - - - -
4K - - - - - - -
6A - - - - - - -
8AH - - - - - - -
10R - - - - - - -
128 - - - - - - -
28 - - - - - - -
1,12-ry4 (RS BA[FS9a0I] 1,3-049A = [N FARUA
oATsy | IFLY | FLr  |aF7aky FIOIL b LI
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#(E0.006LLF[0.03LLF | 001LLF | 0.002LLF [0.006LLF| 0.003LLF 0.02LLF
E - - - - - - -
4K - - - - - - -
6A - - - - - - -
8H - - - - - - -
10R - - - - - - -
128 - - - - - - -
28 - - - - - - -




HEBEEREY

€Y LY TR ER So% F5%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
—weEl - [ - - - -
47 - - - - -
64 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHIEE
N—A~FH RILLT IV
e EER e S 2HEf | y00FRLL | TS
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEEl - 0.27 0.010 - - - -
48] - 0.26 0.017 - - - -
6B - 0.25 0.007 - - - -
8H - - - - - - -
108 - 0.30 0.009 - - - -
128 - 0.26 0.008 - - - -
2H - - - - - -
BiLH WAHERE | UUBR : e i s
IT/=| xS cobD el > AR BREER
(mg/D) | (mg/) (mg/1) (mg/1) (mg/1) (BF) (4 S/cm)
TREl - - 0.7 - 0.01 - =
4R - - 1.0 - 0.01 - -
64 - - 0.8 - <0.01 - -
8A - - 0.6 - - - -
10H - - <0.5 - <0.01 - -
12H - - <0.5 - <0.01 - -
28 - - <0.5 — - - -




